Parts List «..x:

B N 3L 4K

Model: BC26 MA-1 IX*—YY RRI—R 523448

BIGIUI






HEaROTHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BRES - BHREW - MEZTHIEZEL,

INTEATAS (X BI R D EE R E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z2IHERATIZEL,
AERRITEBRLIZLDEHYFET .
AEREBRDAEFELGCEETIIENHYFET .

Fig. DFRRIZTDNT

AFAMR—=UIZ Fig XXBRBERTLTHYET . COXXKIEFAFAIM—D
ELORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeeeeeeeeeesesesssssseeeeseeseseeeseeee e 1~2
2. IOV (DTUDT =R DU e 3~6
I SRV QU b B 190 5 St 3 B 7~38
4. T (FXTLR BFUD) reeesssessesiesesse 9~ 10



1. BC26MA-1

X &




RHES | HRAES & & FR B % i
1-1 363927 | BC26MA-1 1
1-2 226792 | TUNTIVY 1
1-3 227919 | K 9VUN 1hUbA 1
1-4 215532 | fiv44=%") 1
1-5 054691 | YUhT9 9347 1 [ 6794
1-6 089738 | 6 AU Wb (+ T7'EYH) 1 | M5x15
1-7 215418 | nUN LMY ATY H34T 1 | 8794
1-8 092561 | 6 hY& Wb (+)SW 6 | M5x25 77" €Y}
1-9 227934 | ¥ ¥hr-R9347 1 |10~ 15744
1-10 234109 | 6 h4l b 1 | M8X8
1-11 092550 | 6 HYH Wb (+)SW 1 | M5x25-7T
1-12 227947 | NEJKA A H34T 1
1-13 219195 | NnE/KAB 1
1-14 215610 | 6 9K Wb WSW 1 | M8x22 t4)
1-15 225896 | 6 hYF Lk (+) 1 | M5x10 77" €Yk
1-16 220549 | F194v-4H 1
1-17 233415 | 2—=L7°L—} 1 | BC26MA-1
1-18 225317 | nNY3=) 1 | YY9Rs—}
1-19 216458 | nUNILIPA 1|3
1-20 216459 | nUN LTI 1 | E4
1-21 232956 | M)hH34T (T16) 1
1-22 232966 | ADYMLLA'— (T16) 1
1-23 215613 | AAYRLIAY 1
1-24 220533 | hAhTN UM HET 1
1-25 222821 | Y AVAVAN=HIAT 1 |2627 794
1-26 212994 | AN =250ty 1
1-27 092577 | 6 h9K Wb (+)SW 2 | M5x25
1-28 224693 | F¥Y7—- 10 1




2.BC26MA-1 TUPY
iy S

7z

VIS L LS.
o




RHEES | RES B & & &% &
2-1 859022 | 1YYy 1 | EE260/26
2-2 247686 | Y)UE Vb 1
2-4 261250 | 6 W97 FYEK ILE WSW 4 | M5x20
2-5 263772 | 41UYAL—4TkA 1
2-6 267049 | H'ATYH 1
2-7 269826 | 7AIRY (+)WSW 2 | M5x25WSW #9%
2-8 282329 | ¥757tV77 1
2-9 266264 | A%Y1 2 | M5x50 779
2-10 282252 | I AHYb 1
2-11 283464 | FY7hiN— 1 [324n
2-12 280144 | 4YEV3Y (+) 1 | 4x16
2-13 282245 | 45U9—2A 1
2- 280488 | ATYUY 2 | PPL 6001
2- 261492 | #ALY-I 1
2- 261386 | A4LY—IL 1
2-17 055185 | C h'4kin 1 | 7+37 28
2-18 261612 | 6 h97FYFK I WSW 3 | M5x30
2-19 269160 | E'AbY 1
2-20 261496 | E'AMIYYY 2
2-21 261497 | E'ARIEY 1
2-22 261037 | =—NLATYVY 1
2-23 261576 | =497’ 2
2-24 282323 | 47U99%78a077)—b 1
2-25 248450 | 97VF%Yh 1
2-31 286541 | 77UhN -7tV C 1 |32~ 34754
2-32 282233 | 77UhN— 1
2-33 280314 | 979FF743077)—F 1
2-34 014210 | C h'4ks7 1 |S10
2-35 269831 | FA'IRY (+)WSW 4 | M5x20WSW
2-36 282215 | 4997’ 1
2-37 281169 | %Y1 1
2-38 282692 | ¥ AT EVT) 1 |39~ 45794
2-39 261356 | A—4 1
2-40 282693 | 19 Z9YAVAIMNTEYT) 1 | 41 ~ 457494
2-41 267401 | 34l 1
2-42 282694 | 1-FT7tV7 1 | 43 ~ 457914
2-43 261074 | 7739 %vy7° 1
2-44 261075 | 799 1
2-45 282695 | 1—F 1
2-46 261076 | nUrv%— 1
2-47 261417 | $739 0 291+ Uk 1 | M8
2-48 280381 | AN—# 2
2-49 261256 | 6 h97FY£K L WSW 2 | M4x25
2-50 264652 | AN=49739" 1 | CcJsy
2-51 281754 | AMY7 A4VF 1




2.BC26MA-1 TUPY
iy S

7z

VIS L LS.
o




RHES | HRES B A B W B ]
2-52 269705 | I8
2-53 269824 | AL




Iy

3. BC26MA-1
JaAIILRA—A




HaEE B & w =
282843 | YI4UN R4—-4T71Y7) 1

281211 | A%Ya 2

282096 | A%Y1 1 | M4x16

269764 | A8—47"-Y7t€U7") 1

282707 | 747 47tU77Y 1 | 6794

280008 | Yh9+ b 3 | M4

269833 | FAIRY (+)WSW 1 | M4x16WSW A4
280489 | FAIRY (H)WSW 2 | M4x20

283580 | A%Y1 2 | M4x14

288901 | 3A°) 1 | 399 M BC26MA-1




IOV
9

FrILE, A5

4. BC26MA-1




RHEES | RES B & {1 &% &
4-1 280101 | ¥¥7°L47tV7 1 [2~15744
4-2 263739 | FVUIHR T4 1
4-3 262991 | N=VKTFA 1
4-4 262992 | KU hN— 1
4-5 261874 | 7947 1
4-6 283905 | 4'1¥77L 1
4-7 262993 | h'AFYb 1
4-8 262994 | 4°4Y774 1
4-9 282576 | h"AHYb 1
4-10 267358 | 1Yk 1
4-11 261871 | O Yuy’ 1
4- 261876 | vy 1
4- 261658 | A4~ 1
4- 264682 | A4Y1 2
4- 262996 | A%Y1 4
4-1 261864 | H"AHYh 1
4-1 284823 | h—AT7tU7") 1 |18 ~ 24791
41 269050 | H—AK'T4 1
4- 284802 | NIV 1
- 284803 | Lin'— 1
4-21 284816 | 7YY¥ 1 | 6.4x11x0.15
4-22 269032 | A%Y1 1
4-23 126993 | 6 K9 TYh 1 | M5
4-24 269051 | AY-=7" 2
4-25 269030 | ILAVk 1
4-26 281670 | 49Y)—Fhn'— 1
4-27 269031 | A%Ya 1 | M5x12
4-28 281777 | ¥A 1Y (+)WSW 2 | M5x55WSW-7T
4-29 280020 | A4ALYVY 1
4-30 282774 | 49717 1 (31~ 417244
4-31 282250 | 71-I)LAVY 1
4-32 281565 | 4v9%%Y7°74v7) 1 | 33794
4-33 269377 | NYRY 1
4-34 261696 | 7')—4"934T 1
4-35 265752 | #VY3AYNATTEUT) 1 |36~ 41754
4-36 264031 | N47°934F 1 |37 ~39794
4-37 261115 | 4'aryk 1
4-38 261690 | #Y3AIN4AT 1 | 160L
4-39 263038 | A—n"70-nN47" 1
4-40 264653 | 74TV 1
4-41 261117 | 9yv7° 1
4-42 269828 | FTAIRY (HW 2 | M5x16W(11.6x1)
4-43 281208 | A IRy (+)W 1 | M5x16W 494 (116)
4-44 288306 | N'47° 1 | 5x8x10L
4-45 281596 | 3A°) 1 | F3-9

-10-




5. BC26MA-1
Tt &

-11-



RHE®EE | BaES & & 5 R i
5-1 221460 | K3 Ah'% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE' R VHAANT 1
5-4 219431 | 6 hoHR HANT 1 | ZAunN 3
5-5 022865 | YIAVYFANT 1 | 8x10
5-6 233411 | M)7Yh4EY A3 1 | BC230M #%

-12-




Q 2 LR VETR
BsEHREXRERO
Ly R—-pbEL42—: EE 0120-898-114

ZFIFAEFRE: AN9:00~PM5:00(X. B. 18 2R <)
Printed in japan 2012-07.J




